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Knowing that the allowable stress in section ABD is 10 ksi, deter-
mine the largest force P that can be applied to the bracket shown.
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.g The couple M is applied to a beam of the cross

section shown in a plane forming an angle 3 with the vertical. Determine the
stress at (a) point A, (b) point B, (c) point D. ’

~

. The couple M acts in a vertical plane and is applied
to a beam oriented as shown. Determine (a) the angle that the neutral axis forms
with the horizontal, (b) the maximum tensile stress in the beam.
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C200 X 17.1

Draw the shear and bending-moment diagrams for the
beam and loading shown and determine the maximum normal stress due to

bendine
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For the wide-flange beam with the loading shown, determine the
largest load P that can be applied, knowing that the maximum normal stress is
160 MPa and the largest shearing stress using the approximation 7,, = V/A.
is 100 MPa.

W360 X 122

For the state of stress shown, determine the range of values of Ty
~ for which the maximum shearing stress is equal to or less than 90 MPa.

o, = 150 MPa
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